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3 » 15 17 20 22 25267289 30 32 35 37 40 42 45 47 50 52 55 57 60 62 65 675 m
1210385 76 65 6%6 57 53 48 45 41 39 36 34 31 3 2826525 24225215 t
3 » 15617 20 22 25 27 28 302 32 35 37 40 42 45 47 50 52 55 57 60 62 65 m
12109 9 8 69 63 6%w6 56 51 48 43 4,1 38 36 33 32 295285265255 24 t
3 » 163 17 20 22 25 27 29231532 35 37 40 42 45 47 50 52 55 57 60 m
12 114 94 84 72 66 6%56 59 53 5 46 43 4 38 3533 31 3 28 t
3 » 166 17 20 22 25 27 298322 35 37 40 42 45 47 50 52 55 m
121,797 86 74 68 6w6 55 51 47 44 41 39 36 34 32 t
3 » 168 17 20 22 25 27 302326 35 37 40 42 45 47 50 m )
121,998 88 75 69 6+w6 55 52 47 45 4,1 39 365 t W w
3 - 17520 22 25 27 30 31534 35 37 40 42 45 m 12
1210392 79 72 64 676 58 55 5 47 435 t 055t
3 - 177 20 22 25 27 30 318344 35 37 40 m 6 N J
1210493 8 73 65 66 59 55505 t S
3 - 17,8 20 22 25 27 30 319345 35 m — =4 -055t
12 10594 81 74 65 66 59 t
3 > 17820 22 25 27 30 m
12 105 94 81 74 65 t
25> 149 17 20 22 25268273 30 32 35 37 40 42 45 47 50 52 55 57 60 62 65 675 m
1210385 76 65 6%6 54 5 44 41 37 35 32 3 2826524523 21520519 18 t
25> 156 17 20 22 25 27 281286 32 35 37 40 42 45 47 50 52 55 57 60 62 65 m
12109 9 8 69 63 6-w6 52 47 44 4 37 34 3229528 26 25 23 22 205 t
25> 162 17 20 22 25 27 293298 32 35 37 40 42 45 47 50 52 55 57 60 m
12114 94 84 73 66 6<w6 55 5 46 42 39 36 34 3,1 3 275265245 t
25> 166 17 20 22 25 27 299305 32 35 37 40 42 45 47 50 52 55 m
121,797 87 74 68 6*w6 57 51 47 43 41 37 35 32 31285 t
25> 168 17 20 22 25 27 303309 32 35 37 40 42 45 47 50 m ®
12 11,998 88 76 69 6%w6 58 52 48 44 41 38 36 33 t ¥ v
25 » 175 20 22 25 27 30 31,732,3 35 37 40 42 45 m 12
1210392 8 73 64 6=w6 55 51 46 44 4 t 015t
25 » 177 20 22 25 27 30 32 32735 37 40 m € N
12 10594 81 74 65 676 55 52 47 t = -
25 » 178 20 22 25 27 30 321328 35 m —— =T -05t
12 105 94 81 74 65 6«..6 55 t
25 » 179 20 22 25 27 30
12 105 94 81 74 655 T
50 LVF 30 - 75 LVF 30 100 LVF 30
4200-3400-2300kg 4200-700 kg 4200-3400-2300 kg 4200-700 kg
YAVAVA ==
67,5m 145m 23300 23100 22500 22400
65m 145m 21400 21700 21000 21000
60 m 145m 20200 20300 20200 19 600
55m 12m 25200 24500 24400 23800
50m 12m 23300 23100 22500 22 400
45m 12m 20200 19 600 19100 18900
40m 12m 17 200 17 500 16 800 16 800
35m 12m 14900 15 400 14900 14700
30m 12m 13000 13300 12 600 12 600
H(m)[ 502 452 402 352 302 252 202 152
M) 8 72 60 60 60 60 60 60
Hm)[ 477 427 377 327 277 227 177 127
M@®H| 75 70 65 60 60 60 60 60
Hm)| 648 614 564 51,4 464 414 364 314 264 21,4 164
M| 132 120 96 72 48 48 48 36 36 36 36
Hm)| 51 494 477 427 377 327 277 227 177 127
M| 105« 95 8 70 65 65 60 60 60 60
1363m[ | 1663 m| |
106,3m . 131,3m —
76,3 m N . 96,3 m o _
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ch-PS
hp

mmin 26 =210 =30—= 40> 56 =82 13 = 5 =15 =20 = 28 = 41 50 37 337 m

t 6 6 6 AG & | 1B | 12 | 2 12 9 6 3
m/min 36 = 44 - 56 —» 80 =116 18 = 22 = 28 =40 = 58
75 55 766 m
t 6 45 3 15 12 9 6 3
/mi 0 - 60— 79 = 110=162 0 30 = 40 = 55 = 81
mimin B SRE - R 100 75 94m
t 6 45 3 15 12 9 6 3
m/min 0—50(12t) 0= 100(6t) 0—120(31) 615 4
o 0—08 2x55 2x4
rpm
m/min 12,5-25 2x7 2x52
m/min 15-30 4x5 4x37
m/min 15-30 4x5 4x37
m/min 13,5-27 4x7 4x52

50 LVF : 70 kVA
400 V (+6% -10%) 50 Hz 75 LVF : 95 kVA
100 LVF : 120 kVA

50 LVF 30 Optima w75 LVF 30 Optima 162 ™M 100 LVF 30 Optima
m/mn 116 0 +25%
t +25% | gt 110 ‘ t
56 ‘ 60
30 4
15 "3 6t 15 3 6t 15 3 6t
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